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CODE : 34T ECON

2024
ECONOMICS

( For New Course Students )

Full Marks : 80
(Part-A = 40 + Part-B = 40)
Pass Marks : 24
(For Old Course Students in lieu of Project Works )

Full Marks : 100
(Part-A =40 + Part-B = 40 + Part-C = 20)
Pass Marks : 30

Time : Three hours

Those who appeared till H.S. Final Exam.-2023
have been treated as Old Course students

The figures in the margin indicate full marks
for the questions.

PART-A (3 - =igdh)

For New Course

Q. No. 1 carries 1 mark each (any fout)......................... 1x4= 4
Q. No. 2 carries 2 marks each (@ny five) ............cocoou..... 2x5 ="10
Q. No.-3 carries 3 marks each (any fwo).................c......... 3x2= 6
Q. No. 4 carries 6 marks each (any two)..............co.c..... 6x2 =12
Q. No. 5 carries 8 marks each (any omne) ................c.o....... 8x1= 8

Total = 40

PART-B (& - )
For New Course

Q. No. 6 carries 1 mark each (any four)......................... Ix4= 4
Q. No. 7 carries 2 marks each (any five) ...............cc....... 2x5 =10
Q. No. 8 carries 3 marks each (any 1wo).......................... Ox 2= 6
Q. No. 9 carries 6 marks each (any £w00)............c.cocovvvnn.. OXPI=H12
Q. No. 10 carries 8 marks each (any one) ........................ 8x1= 8

Total = 40

PART-C (4 - T
For Old Course (in lieu of Project Worlks)

Q. No. 11 carries 5 marks each (any four) ................... . 5x4 = 20
Total = 20
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PART-A / S—9[%
1. Answer any four of the following questions : ‘ 1x4=4
wors fwal esiaE Ricpicar ofseiq ©ed wal ¢
(i) What is intermediate good ?
el w3y 3 & g@ie
(i) If MPS =1, what is the value of MPC ?
gft MPS = 1 2%, MPC § SII9 594 2’9

(iii) Primary Deficit = Fiscal Deficit - : (Fill in the blank)
Afi o =@ At - | (3T 912 2454 )

(i) Which one of the following is not a quantitative credit control
measure of the central bank ?
o (BIFCO! (P (P AR 2l Fagel 1w e o
(a) Bank rate
(8= 2
(b) Open market operation
(ATl TeTs et
(c) Variable reserve ratio
sAfeHle e e Srsire
(d) Direct control
oy farge
(v) Write one merit of flexible exchange rate.
PifRasiel RfTE 2w @b FRal
(vi) What is GDP deflator ?
GDP 7K @2

2. Answer any five of the following questions -
o AR Repieal livbre ©ea fra ¢ 2x5=10
i Differentiate between capital e
i EL] G O AGT IS ‘SII)[W "ﬂ:%erfg[hture 28 revenue €Xpenditure.
(i) What are the components of hi
CHFASH™E 419 CAMTRR & &
(i) What are the transactions that are included ;
of balance of payments ? I the Capital account
wﬁmmwwﬁﬁmvi@%%ﬁa@%h
(iv) Define personal income and persong] da;s °~TK?I>‘9
e oF S s A SRg e ]%EITOlSable INcome

gh -powered money 2
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(v) As a result of increase in investment by Rs. 125 crores, national
~ income  increases by 500 crores. Calculate the value of the

multiplier.
el 125 (b 56 giad = GioE oim 500 @i 55 3 20 | @00 i
Fefm =)

(vi) Distinguish between stock and flow.
Tg© Wi YRS Aed Al ¢gedt |

(vii) Write any two implications of revenue deficit.

At A e o e

3. Answer any two of the following questions : ' 3x2=6
woTe WAl & fepiear ghi9 ©ea fral ¢

(i)  Write any three limitations of barter system.

s a2 R oA sefRa Sd 54|

(i) What is balance of payments deficit ? Write two causes of balance
of payments deficit.
ARCEIE ToF TG 2 “feiiag e =it gw lel Srmd F49 |

(i) Write a short note on :
Autonomous and Induced Investment.

53 (Ol fordll 8
Tog SiF Ufere &t

(iv) What is a government budget? What are the components of
government budget ?

SIS AMCGD 2 5EFIE1 B SAMIPEER T &2

4. Answer any two of the following : 6x2=12
OoTd HHTEA e whld Sad Al ¢
(i)  Discuss the motives of demand for money ? What is liquidity trap ?
S5+1=6
JuE SifRnl SfeeRETIe ScEna 4 Sy F v 62
(ii)  Briefly discuss the income method of calculating national income.
From the following data calculate Gross National Product at market
price (GNPyp). 4+2=6
GRSk Sl T ™ 2IO0s! 5 SETh T4l | Oo O A2TS TEE
7S o Gl B Sl 4 |
(in Rupees crore)
_ (I i)
(i) Mixed income of self-employed 400
Hicaifere e fufes o
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(i)

(in Rupees crore)

~ (FIf5 Toe)
(i) Compensation of employees 500
o Wl o7
(iii) Net factor income from abroad (-20)
RO #a1 @El Hes =i
(iv) Net Indirect Taxes (F%F 2% F9) 100
(v) Consumption of fixed -capital 120
29 e SHATsll
(vi) Profits (5ie) 350
(vii) Rent  (JE1) 100
(viii) Interest (3%) 150

Discuss the functions of commercial banlk.

qifdfeTe @ SEiget! SicEToal 56 |

(iv)] Define aggregate demand and aggregate supply.
following table and determine the equilibriumgigvil (Sfoirll:llgézz t %
s o W A @I e Bl Ot i o 2;“:,‘?
SR SEeE e < g L
Aggregate | Consumption Savings Investment | Ao ———
Supply Aggregate
e st TSl A% st kR

(AS) (© (S) (n R el
900 780 20 —t
800 700 70 <L TR
700 620 40 etV IR
600 540 240 pect R
500 460 , a0 e= T
400 380 | 40 e S O T
300 300 40 e T
200 220 a0 = ey
100 140 40 B
5. Answer any one of the following : e =
G5 eI Rl @bIg Sed fwdll 2 . 8x1=g

(i) What is fiscal policy ? Discuss the impact of changeg ;
expenditure and changes in taxes on equilibriym ?;élogOvernmEnt

Ine,

SIETCHRE S 2 Sy A @790 bR 3w ey 2+3+3-g
oI Sl 34 | T TR R
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(i) Explain the determination of exchange rate und i
e et g under flexible exchange
PRRETAE RFT 2F ErS [ 2 e 36 s
(ii) Write short notes on : :
448
53 (Il el 8 ‘

(a) Demonetisation

[EEAEEE
(b) Fiscal Responsibility and Budget Management Act, 200
) 3
GBI WG TAFE O GG (O] S, 2003

PART-B / 4-9[x#

Answer any four of the following questions : s
oo ERICARA e BifeEy ©ed il ¢

(i)  What is underdeveloped economy ?

s S T & @2

In which year World Trade Organisation (WTO) was formed ?

2w ifeley E (WTO)@THWWW? .
Write the full form of SHG.

sHG ¥ =i T
(iv) Write one objective of NITI Aayog.
NITI SIS @5 SomeD fol |
(v) Golden revolution was related to —
(@) fish production
(b) horticulture production
(c) milk production
(d) agriculture production (Choose the correct option)
ciRE Red wie ifie —
(@) T GeARTE OO
(b) CWITTD BeAWd (109
(c) % AT [eiaS)
(@ TR SATE OO (5% Fow Fsr 73

(vi) Define privatisation.
Ffearesatd K& ferall |
the following ilueStlons : L
<o LSS f55Iq Ted ‘fﬁm 2
\9. Mention two non—institutlonal sources of rural credit.
e gy A criie Bt S 4l

(@)

(iii)

Answer any Jive of

[5]
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(i) Write two long-term goals of Five Year Plans of India.
Tiged “wdlie ReaTE 750 Teuml @ o)

(iii) Mention two types of unemployment prevalent in the agriculture
sector of India.

Ced FRA4eS ebfere 72 9FRe Magal e S 41 |

(iv) What is the importance of green revolution in the Indian
agriculture ? . :

TiAed FPRRNYS (10T {2l ¢y 2

(v) Write two positive effects of LPG policies in the Indian economy.
wlHeR wHifee LPG Aifed 75 4ES e ol |

(vi) Write two merits of globalisation.
(silEr e 76) Al S T4 |

(vii) Mention two objectives of disinvestment.

AfFcsE 750 Sl SrEd 41|

8. Answer any two of the following questions : G
wofd 2REAEE [ 7o19 ed faal ¢ -
(i)  Write a note on Industrial Policy Resolution, 1956.

Toifee Tife 2%iE, 1956 9 [aw aft @R |

(i) Briefly discuss any one serious environmental problem India is
facing at present time.
THAN S CHCe AP ([ R o) @W?ﬁmﬁqwﬁﬂm
PGaClGIPDIRE I

(iij) Discuss the composition of India’s foreign trade on the eve of
mdependence
FIHTO GILOT e ZEIZWF‘W“ e 1o R iy g

(iv) Explain the role and importance of education in hum
formation. an capital

ST S A9 R S S ey 396 1|

9. Answer any two of the following questions :

E SR Rzl FhTT Be T ¢ | Q32512
(i)  Write a comparative note for India, China and P
of akistan on the basis

(a) Demographic indicators
(b)) Human development indicators
(a) SR el =i

(b) & CEA orenza fefee wiFs, 5 o s
(G124l | Q%W
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10.

i1k

(it)

Briefly discuss the challenges India is facing in the context of
employment.

IR (@500 SO AYAN (Al AFTERR B0 el 4 |

(ii) What is economic reform ? Explain the need for economic reforms
in India. § ' 1+5=6
wiAeS FHE {52 OFeade Oies AEHRE st 36 71|

(iv) Outline the common developmental successes and failures of India
and Pakistan. 3+3=6
SEe S ANEEET SrIEe Rl WweTel wis [werer [ae &2

Answer any one of the following : 8x1=8

e fAcelel <ol e Bed frl g

. do you understand by agriculture: marketing system ?

(i) What i > ;

Discuss government measures to improve agriculture marketing
system in India. (- o 2+6=8
< qe T I [ 9912 SiRese 3 Tuie 97 Tre SR a4zl 7
SRR AMCTFAITR SOl 1

(ii) Analyse the concept of sustainable development. Also discuss the

' strategies for sustainable development. 4+4=8
Tl GeEd AIRCACR! RCael <59 | FolC® e SRS (TR, STl
41|

PART-C / -9
( For Old Course Students in lieu of Project Works)
following questions : S5x4=20
Answer any four of the
— 5/fa5) e Ted fral ¢
; : iti blic debt.

i Write a critical note on pu

i 5l Ao T @fo ST (Rp =i

(ii) = Discuss the sources of demand for foreign currency.
carvifRi U SRR LR STl |

(i) Can GDP be used as an index of country’s welfare ? Justify your
answer.

GDP % G4 (R T Fp<peicet <RI T ARt 2 corita Se steite 3
yls<CoHl | : _ 2 : _
y hat is human capital ? Discuss the sources of human capital.
(iv) ;Vm eee e e T 5194 CITIE. Sl 54 |
iefly write about India} as a knowledge economy.
(v) ;E@%g@mﬂmwmsﬁaﬁm|
| .. ~uss the circular flow of national income in a simple economy.
(vi) E;;CEW wefqifoe SES P E YE SCED 41 |
X
[7]
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